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| mportant Mcqgs

What istheresult of the following code snippet?

css
Copy code
inta=>5;
intb=at+,
aa=5b=6
b)a=6,b=5
ca=50Db=5

da=6b=6

Answer:a)a=5,b=6

What istheresult of the following code snippet?

Ccss

Copy code
inta=>5;
intb=++&
aa=5Db=6
b)a=6,b=5
ca=50Db=5

da=6b=6

Answer: b)a=6,b=6



What istheresult of the following code snippet?
Ccss

Copy code

float a=5.0;

float b = at++;

a)a=5.0,b=6.0

b)a=6.0,b=5.0

c)a=5.0,b=50

d) a=6.0,b=6.0

Answer: a) a=6.0,b=5.0

What istheresult of the following code snippet?
css

Copy code

float a= 5.0;

float b = ++&

a)a=50,b=6.0

b) a=6.0,b=5.0

c)a=5.0,b=50

d)a=6.0,b=6.0

Answer: b) a=6.0,b=6.0

What istheresult of the following code snippet?
css
Copy code

char a="'a;



char b = at+;

aa='d,b="b
b)a='b,b="a
c)a='d,b='a

da="b,b="b

Answer: @) a='b',b="a

What istheresult of the following code snippet?
css

Copy code

char a="a;

char b = ++&

aa='d,b="b

b)a='b,b="a

c)a='d,b="a

da="b,b="b

Answer: b)a="b,b="b'

What istheresult of the following code snippet?
Ccss

Copy code

inta=>5;

intb=a-+3;

aa=5b=8

b)a=4,b=7

ca=50b=7

da=4,b=8



Answer:c)a=4,b=8

What istheresult of the following code snippet?
css

Copy code

inta=>5;

intb=--a+3;

aa=5b=7

bya=4,b=7

c)a=5b=6

da=4,b=6

Answer:b)a=4,b=6



